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03 2IAHAZZXHE = 143,430 141,646 1,784
OANGARA (HAEXI) 143,430
(OPIR=3=| 1,933,470 x4H x12& 92,807
= 25,000
< 67,807
odzx4¢ 1,933,470& *10%*4H »23| 1,547
SNEITIELES=
9,930 x150%*20 Al 2tx1H «12& 3,575
O9XRaHII=Y 79,440& *4H 15 4,767
OY ZE I 1,933,470& *100%*4 7,734
OZ4Aldl 130,000& x4 x12& 6,240
OuWEH| 100,000& x4 x12& 4,800
Oons< 3,120
=N 40,0002 x4H x12& 1,920
-224II= 20,000& x5H x 128 1,200
OgAERY= S 380,000& »4H x12& 18,240
O=2WoHHl 30,000 *4H x53| 600
Jl=2 &l 33,450 34,560 A 1,110
=AY Jl=2FY 26,550 27,540 £990
201 et A | 12,280 12,280 0
01 AtR 22l bl 12,040 11,400 640
OBNME&Y AIR22teldl 12,040
02 332494l 240 880 A 640
ORNE2Y 5529l 240
202 04d| 8,910 9,900 A 990
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